Calculus I: MAC2311 Name: K e (/'
Spring 2024

Exam 3 A Section:
4/4/2024
Time Limit: 100 Minutes UF-ID:

Scantron Instruction: This exam uses a scantron. Follow the instructions listed on this page to fill
out the scantron.

A. Sign your scantron on the back at the bottom in the white area.

B. Write and code iu the spaces indicated:
1) Name (last name, first initial, middle initial)
2) UFID Number
3) 4-digit Section Number

C. Under special codes, code in the test numbers 3, 1:

1 2 «¢ 4 5 6 7 8 9 0
e 2 3 4 5 6 7 8 9 0

D. At the top right of your scantron, fill in the Test Form Code as A

e B C D E

E. This exam consists of 14 multiple choice questions and 4 free response questions. Make sure you
check for errors in the number of questions your exam contains.

F. The time allowed is 100 minutes.

G. WHEN YOU ARE FINISHED:

1) Before turning in your test check for transcribing errors. Any mistakes you leave in
are there to stay!

2) You must turn in your scantron and free response packet to your proctor. Be prepared
to show your proctor a valid GatorOne ID or other signed ID.
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It is your responsibility to ensure that vour test has 18 questions. If it does not, show it to your
proctor immediately. You will not be permitted to make up any problems omitted from your test after
the testing period ends. There are a total of 105 points available on this exam.

Part I Instructions: 14 multiple choice questions. Complete the scantron sheet provided with your
information and fill in the appropriate spaces to answer your questions. Only the answer on the scant-
ron sheet will be graded. Each problem is worth five (5) points for a total of 70 points on Part I.

£

J

1. Let y = 222 + 2. Calculate dy + Ay as = gocs from 2 to 1.
(A) —12 (B) 12 (C) 516

(D) 2 (E) -9

2. Find the linearization, L{x), of f(z) = vz +5 at a = 3.

(A) 2+ 3(z - 3) (B) 2+ 75(z — 3) (C)2-L(z-3)

(D) 2+ 3(z+3) (E) 2+ ¢(z+3)
\

| X}
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3. Find the critical numbers of f(x) IE3(21L 1). DDM OKM’L - (’\QO 00\
S
(A) z=0 (B)z =3 (C)7=0,3 (D) z=0,% (E)z =1
C 2’3 2 -k
TRy XF@) x :gx 2 (2x-0)
~be
fro0r= X (2% + 5 GxeD)
- 2)( 4 L'{X - _jz:;
oo = 3
L, A
“f" Cx_2 .o xkeo
(O v -2 3 2
O k>
T S - ox-2 7 0
X 73 - L)
=)
4. Let g(z) = 2% — 127 4 23. Calcnlate the absolute /a:um;lm of g(x) on the interval [—5, 3].
t g + te t t U g(=x t t =
(A) 20 (B) 18 (C) 30 (D))39 (F) 44
2 )
S Bx*-12=0 el #5 WYENM—
i - ‘ \'ml,ej\/m—q “’S’(S
3(x*-4)= 0 o The
Z(x-D(x+2)= 0 ‘gﬁs\“’qz
{..
X2y X=-2 f 2y - 3 larges

Lea)= T
T3\ =



Calculus I: MAC2311 Exam 3 A - Page 4 of 14 4/4/2024

5. The graph of-the first derivative f'(z) of a function f(z) is shown below. On which interval(s)
e msssng)

d 4
ey eaiwng > F1e070y-

(A) (—OO, _3) OO: _3) U (_3)0) (C) (—3) _1) (D) (_370) U (173) (E) (O* 3)

6. Let f(z) = 22 — 5. Are the assumptions for the Mean Value Theorem met for f () on the interval
[—1,8]?

(A) No, since f(z) is not continuous on [ 1, 8].

o, since f(z) is not differentiable on (—1, 8).

(C) No, since f(-1) # f(8).

(D) Yes, f(z) meets all assumptions required for the Mean Value Theorem.

H{
QC'(X\I 2% — < )C‘(tﬂ 'S w\dzﬁgu._c, ol

by )
5 X O is A Tt onferod

Not o Hex ool (18
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7. Find the number ¢ which satisfies Rolle’s Theorem for f(z) = sinz on [0, x].

(4) 5 (B)

ENE]

%
(D) F (E) =

gr'm: Cosx

0= 0SX
_ T
X=q

8. Find the interval(s) where f(z) = /2 i ing. : (/00 J O] V Cg) w)
oo,O) U (5, 00) (B) (0,5) (C) (=00, 00)

(D) (=00,0) (E) (0,5) U (5, )

fuo = (X«s’\
'l)c\ "’(x 3 [X(Sx:r)x]
F10) < J—( [ QM)L]

guuié“{S .
NN‘ ;aSlfW" nef AV

frin) is atways negetve.
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9. Let z and ¥ be tw@ulnbers whose product is 100. What is the minimum sum for two
such numbers?

(4) 10 @0 (C) 25 (D) 40 (E) None of the above.
- f00 00
y:IDO“? )(VL_’ }(:I._/ = |0
y Y T

i nimi 2€ - F = )(+|j ey = Jo+ 10 =[20

F- L”f-j‘)m
pr= "1 4+ =0

J

00
l:‘

g ) S
BttID)bW‘F 37 ! 5

10. Which of the following correctly describes f(z) = 2 + 2z% — z4?

-]

(A) Jf(x) has two local maxima and one local minimum.
(B) f(z) has one local maximum and one local minimum.
(CY f(z) has two local maxima and two local minima.

(D) f(z) has one local maximum and two local minima.

{‘((}(): LH(«L/YB
f-l(k) = L/L/ (/"'XL>
110 = i (L= )1+

b (1-x) (1¥5) =9
=0, ¥=/, t=-1 Test 1 froey
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llc
11. Let f(z) = sin? z. Determine the interval(s) on [0, 7] where f(z) is concave down. F <

(4) 0,5 V(7] (B) (5,5) U (3,7l

(D) [0, %) (E) (Z.7)
£/ (0 = 2siax (05X
7&::“(): QBVWC('SMH k(C(IS)(ka)c)‘]
F(e) = 2 [ Lk = Siatx] Jitter

gl 0
S{ q,étfeJ

3

iy

2 (wsk-sin Y (UsKESInX) = D < And siuhms 1n (07 ]

v

: / . i \(\
Ly Sk = S\nK Cesx = -Stnk ’\’eS’(‘V‘ ,] .

. X=L |

L "\‘}') 7: (1}12 L@l{ S
= ffq eY o3n Ay
o CCIA,F C.C 0‘0"" Y » ('LW

3t X 0" \¢
12. Evaluate }im € ! = 6 | z

-0 t M

0
(4) 0 (B) 1 @3 (D) oo

f '/m 583{’

>0 Ty

("
\N
™
o
Q

(E) Does not exist.
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L\ 174 14
U« =
13. Evaluate ll_)m T tan (l) W ' /'M (90 - @0 - o

X

(4) 0 1 (C) -1

(D) oo (E) —oo
= hm fan(x) 2V

K> —)-i— ;

| - ! : -

L sect( ) (/;*{)‘ _tim Sec*( %)

kaos - X0 i

X = s€cC (‘))
= (S"CC/‘)))): /2’B
a\w\SY

14. Which of the following functions is always concave down?
(4) f(z) = 32> (B) f(z) =2* f@=va+ . (D) f(z) =sinz _((E) f(z) = —4a*

We raed an Omswu cﬁotce where fz‘(kl s
plways  MLYHTNE!

Lok o+ (B):

frin = ~lox”

Py = 8¢

(nven Gny  rEELN val
qun e dowl

v of X, fu) will b€
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Calculus I: MAC2311 Name: M
Spring 2024 |
Exam 3 A Section:

4/4/2024

Time Limit: 100 Minutes UF-ID:

Part II Instructions: 4 frec responsce questions. Neatly give a complete solution to cach problem and
show all work and intermediate steps. We are grading the work and notation as well as the answer.
Problems 1 through 3 are worth seven (7) points each. Problem 4 is worth fourteen (14) points. A
total of 35 points is possible on Part II. No credit will given without proper work. If we cannot
read it and follow it, you will receive no credit for the problem.

For Instructor Use Only:

FR 1

FR 2

FR 3

FR 4

Total Points
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1. Clearly state the indeterminate form of the limit below. After this, evaluate the limit, stating the

use of L’ Hopital’s rule wherever applicable.

Do ¢(
lim (14 sindz)® —> ‘(0 +(D

hma N (H——S\hq}a ce o2
(&1

e w%)\\n(lfgxhqk\

xaot

(

Lets look at =
lim cotpx) -In( [esin(di)

Y20 esin(dR) 1L,

= lim 0
l’-’h0+ Fanl i) S
/ . Y cosHi) Lieos(o
"z’fw;'L m - ()
= ¢ s V435t
____._.——-—-l—'
it SQC-&("’) <ee Q)

WEJCOVQ,

W Lo - In ( TFSIn (YX)

e

—
-

See

=L
t

‘#

\

o B v on ol ternate Sobuwhvi

-
L

—
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2. Find the absolute maximum and minimnum of f(z) = xv4 — 2 on the interval [—1,2].

4
Loo = x(#=x?)
[ -4
J[’(x):: (4-x*)2 + /{0/sz> 2("2k)CX\
N\ L
Freo - (H=KT)E — xt(u—r?) g

7@(@ - Cc/-xz).g[ ‘%-x‘—xzj

7[/(@ _ - Z)ci

F/l'md CVL"E!-COVQ_ Wcm'fs (A Iinferd okl
11tx) = O L) nrdehined
L/__/Zkl.:o ;/ ' </-f)(2 e
Y=2k% Y= x>
2= X" Y= £2
Bz =k < -2 net
)(:\fz not )n /N /,,/_C,Vo/e
jafers ot
obS ™
fep= -1z =3 e
abs .
Ly = 22 =2 ne
O
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3. A box with an open top is to be constructed from a square piece of cardbhoard that is six feet on
each side, by cutting out a square from each of the four corners and bending up the sides. What is
the largest volume that such a box can have? Show all work. You may wish to draw a diagram to

support vour work. Recall V = lwh.

V= 4w

7|/ = (b 2Rk}
(gg,(ak«mmuzﬁc
/= Zox — >k #WC
v'= 3lb - 48x Y
Newel V=
12k ywix + 3670
2 Yx 3 =0

A
.® (5 [0
ID(J of &
(oAt

) orgest Volwmt
V= (- 2l (-2 ()

—

L—fgs (L@ M5
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4. Let f(r) =
Part 1. List the function’s domain, intercepts, and vertical or horizontal asymptotes
Domasn : (=20,0) 0 (0 20)
o
interapts: C1y00) vy
t—\‘b"\. 2’0‘/\'(_5"0 Limn — = O
Verticol S ne | ke X7 (J@
= AN .
osyrptre | X= O | oty e xel L5 b
Part 2. Usc the first derivative to find the intervals where the function is incrcasing/decreasing. Also
give the x values at which any local maxima or minima occur and their corresponding y-values
, 2—z QC/C)(): f’[k.) uncted A
Fla) = : :
z 2-xX=0 =0
K = 2. A
. ¢ [
inere RSIAO - ( D) 2‘3

/
DQMCMMJ : (—90, oYyuw(2, °c) [

Iz - [ o N
lycod mo ! (23 41) ¢ < ,‘ @ f S ?
-) @) )
no \9cold WAL /O " 2

i
Part 3. Find the intervals where the function is concave up/concave down and points of inflection
-3

Fi(z) = 70' tx) =0 7C e Wf..e.dme_oﬂ
Kfj X»B“—O xX=0
ooy S - Z
Po&me )(' 3
C 0N ONe u{o-(3,°°)
@ncwedowm-(-%,03u(0:33 I ! y © / ) :
) I -y 3 &)
\\Y\-g(eu‘t\'o\’\

pOtH’ ' <3) 2‘?\

Using the earlier parts, sketch the graph of f(z) = Z5

= on the next page.
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